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() 3G Y974 FT30 F5HE |

Gi) @t 3eT e & | Tt go ge 7 srdke faweq [T e §

(iii) 597 &I 1 & 8 Fglahedid 397 & 3K 3% @ [c70 1 37 [HelRT & |

(iv) 397 &9 @ 14 T FHIT F97 & 3K &A% & 1070 2 37% 7R & | 77 &
Y9 T I 40 Jsc] & 371F 7 51 |

(v) I GEIT 15 & 20 TY FHIT J97 & 3R J&dF & 1077 4 37% [F41RT & | 379
g 9% &7 3¢ 100 sg] & 3718 7 &1 /

(i) ¥97 §&I1 21 G 24 i 3907 97 & 37k Y% & forw 5 3% [ReRa & 1 5797
g 9% &7 I 120 Fsq] & 3718 7 &1 /

(vii) ¥97 G&IT 25 & 30 i 30T 97 & 37k Y% 3 7w 6 37% [ReiRa & | 577
g Ycd% &7 I 150 Fsq] & 3718k 7 &1 /

General Instructions :

)
(ii)

(i11)

(iv)

(v)

(vi)

(vii)

There are 30 questions in all.

All the questions are compulsory. However, internal choice has been given

in some questions.

Questions number 1 to 8 are multiple choice questions carrying 1 mark

each.

Questions number 9 to 14 are short answer questions carrying 2 marks

each. Answer to each of these should not exceed 40 words.

Questions number 15 to 20 are short answer questions carrying 4 marks

each. Answer to each of these should not exceed 100 words.

Questions number 21 to 24 are long answer questions carrying 5 marks

each. Answer to each of these should not exceed 120 words.

Questions number 25 to 30 are long answer questions carrying 6 marks

each. Answer to each of these should not exceed 150 words.
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SECTION A

1. Y & 9w § Ui % gEaiail o TEd sl 9g9H i | 1
(%) WF < foTT w@fica o1 g&araw
(@) Hifia wafiea =1 gEdTa
() ferelt o= Tufa & fore e 1 g&dmaw
(m) fomr foreft gfawet = g&dTaRoT
HAYAT
yed fafer fagior & &= o aftfera 3 1
(%) wag H1 faufeh H HET T & ISR
(@) wEg H1 TsT fagm quredt sl ST S & ARIHR
(T)  TEE 1 HRITTADT Dl BT TH b HATTRR AT
(9)  RITTCTeRT T HHG 1 h S o TR ST

Identify the nature of transfer of property in case of ‘lease’.

(a)  Transfer of ownership for price
(b)  Transfer of limited ownership
(¢)  Transfer of ownership for some other property

(d)  Transfer of ownership without consideration
OR
The scope of delegated legislation includes

(a)  Parliament conferring law-making powers to the judiciary

(b)  Parliament conferring law-making power to State Legislative
Assemblies

(c) Parliament conferring law-making power to the executive

(d)  Executive conferring law-making power to the Parliament

2. Ifgd # RUR T | el Tia ¥ 9WE JUd §Y 9RSl T | GO T
qHH IHY SAYeh SUHG R forn T, ek Jiuneesy 39 =le ugHl | 36
feyfa @ f=feifed @ 9 H-a1 9 8 2 1
(%) STIY Sl Uehd o I FA T TANT KT Fopdlt BT heled 7, 39T &1 8 |

@) SATRE H TRl STSHAVERI W1 Fle U5 3T9UY &l 2 |

) WSl W o 329 | WIC TEHl § SAfIY T I B |

°) T ME I FIER Hdfdeh 3 Hifh T9G 3 ifgw 4 fopelt omfdes
forareraT & Il IRl & &l |

AT
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Teh T8 § Poglel sug gH o a1g TRIYT 1fHd = et foh 7@ gitmm ot o
T I AW T o1 | 38 I8 SAH it Uil *l a9 i 5@ a8 gfo™
fetEa o o |
Y oI hl G o g 2 1
(%) I8 TR T 7 |

(@) 7§ =R (Treg JEIER) Tiishid 2 |

(T) g TUTEh g Fifeh 3T TAlhr & fohan fop 30 BforRm o1 Sw= &M
fomam o |

(7) e 38 u% s fafled &9 & foan @ @ a8 39 319 W AR T
% T 2 |

Akhil is caught stealing merchandise from a stall at the trade fair. The

stolen goods are forcefully retrieved from him, resulting in injuries.
Which of the following is true in this situation ?

(a) Using force to prevent a crime as part of one’s duty is not a
criminal act.

(b)  Causing injury to an assailant in self-defence is not a crime.

(c) The injury is caused with intent to take revenge and this act is
criminal.

(d)  Security guard’s behaviour is unethical as Akhil may have stolen
due to some financial urgency.

OR

Amit, an accused, after production of an axe from a place, said that it was
the weapon with which the deceased was killed. He made this statement
to the police officer while he was in police custody.

What is the relevance of this statement ?

(a) It amounts to confession.

(b) It is an extra judicial confession.

(c) It is irrelevant as he didn’t admit that he used the axe.

(d) It amounts to self-incrimination if he puts his statement in writing.

3.  Torell SticHIeTEd SRE@M o HEAR T JHTA o a1 I AT o IR T
frafea fopr S w1 folg o @ & | U=l 3R Jagd & &= 1 foarg 38
fafa @ fgern @0 @ . 1

(%) Tmd (HiffTTIH)
(@) wereyar (Hfswm)
(W) e (FReE)
(=) ferarer (3isiger)
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Workers at an automobile plant are protesting over the suspension of
their union leader on disciplinary grounds. The dispute between the
workers and the managerial staff may best be resolved through

(a)  Conciliation
(b)  Mediation
(c) Negotiation
(d)  Arbitration

4.  THATA i@l § 3 W A T@H-HH 61 =i s=ar 8 | grsii-es LM 1
fie-vTe 1 1 & foTe T yemem 9elt &1 3w i arel aeft B are
M fashareti W gfdee o <a1 8 | 36 dga 36 TR 39 I 3= fasharsti &
TH: TIM ¢ o T 9W 919 % Ied W T Fre el i i S g e

Tg oy a8 | 3o fufd m Ffafga d g s am sem g 2 2 1
(%) THATA 1 a0 HEAT =AIIG & Fifch SHH IGehT AT HT HATAHR
TAT ST 7 |

(@) R aHd g 3R 98 hig Wl T o1 Fohell 7 |
() TR AEWY g 3R Teeh! WaATs o T His ff HTE &1 Tt 7 |
(") =g yfqeg =mrifaa T8 8 it 38 3T<ag 21 %l 3G BT 7 |

Ramlal is a vendor who sells street food from a cart in Kolkata. The local
administration puts a ban prohibiting all street hawkers and vendors
from using pavements to sell their commodities to decongest public
spaces. Instead a special lane was developed by the name of
‘Chaat Street’ to relocate him and many such street food vendors on
payment of a nominal license fee to which he resisted. Which of the

following statements is true in the given situation ?

(a)  The resistance by Ramlal is justified as it is taking away their
right to livelihood.

(b)  The government is powerful and can make any law.

(c) The government is sovereign and can make any law for common

good.
(d)  The ban is unjustified and violates Article 21.
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5.

SR foafoamam =1 fafy fawm s v taua.sft. & dousy § ufedy
AT AEAT 7 | U8 qiEaHl 1 efafad 4 8 S w@id i ? 1

(%) T fafas ufvg (IR +RRE)

(@) wna i fafes ufteg
() fovafoene™ STgm
(") dTeR 3= e
HAYAT
I QSOII%CH vere, 1961 1 feu U fashewt # @ Fafafiga 0 @ = vy fafeshis
(efrrer Yfgesr) 757 o 2 1
(%) @rfafde
(@) dehia
(1)  wlet
() H&R

The Department of Law, Bangalore University wishes to make changes
in the syllabus of its B.A.LL.B. course. Which of the following will
approve such changes ?

(a) State Bar Council
(b) Bar Council of India
(c) University Grants Commission

(d) Bangalore High Court
OR

Which amongst the given options was not an Indian legal practitioner in
pre Advocates Act, 1961 ?

(a)  Solicitors
(b)  Vakils

(c) Pleaders
(d)  Mukhtars

Held ILhR ol WY < 91 Tafées StfeeptiEl & el § fefafga § 9 s0d
i fafga (3fte B9 31m=e) HIfrT | 1
(®) MH IRA

W) Ugdiche ST

AR S
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With regard to legal officers who act as advisors to the Central
Government, pick the odd one out.

(a)  Attorney General

(b)  Advocate General

(¢)  Solicitor General

(d)  Additional Solicitor General

7.  Tofa sygarh it areesea (R dkeme 2T HIE) IR G § 74 g |
forenfoi @ ardem i St 2 fo 1
(%) fafy (@) & gem ooft 6t fft g =L
(@) o9 T H 12 TEHRI (FTeereT) T R e i
() e % T H yaw o '/
(b) Rrerea (Sfues) wrea fomm &

Before commencing their Bar Professional Training Course, the students
in UK are expected to

(a)  Secure a first class degree in law

(b)  Complete 12 qualifying sessions at their Inn
(c) Join an Inn of court

(d)  Obtain pupillage

8. oy giuare™ § 3= Jvfl fdfues fomie A0 =1 ye=fd § g9q afies @ 39
3 AN % R A T T B | 9% WiHel 1 319 aiss SRl o |
o AT 8 g Uk TETEE & Fehetar B | 38 ween 1 9 faRaw e waua
foATg o7t TR w1 THTUH % foTT TEqd ot Tohd 7 | 1
(%)  hela gemEfeh —mEReRoT
(@) T=a gemEfe =Rt
(M) TdE Ehd s
(|F) TarE AR
Vinod Nehra, an Upper Division Clerk in the Central Secretariat is
passed over for promotions by his juniors in an arbitrary manner. He
takes up the matter with his superiors but it remains unresolved. Name
the body Vinod can approach for redressal of his grievance.

(a)  Central Administrative Tribunal
(b)  State Administrative Tribunal
(c) National Green Tribunal

(d)  Supreme Court
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SECTION B

9.  If¢ U TIEH I AT W 7 = 1 FT8d J YUST bl URA I gwehl & | S oh

AR WUST  TOT HaH S o IHeiid T gEareR o fGu | 9 9% gwsiar =9
T I g ? 39 W o AT Toh G | 2
T

g wE. Ifaf=m, 2000 & FAdNd HAHAT [OvafdRne™ hl TATT he

% ®9 H g | 9 Ffafy (Kege) % srda favaldered i
TITOHT <l T 398 98 Il g foh fovafaeme™ ICUC s ¥ & @@ @i |
I feufd # wemele GRefafy (veerw) @ ggEm HiNT R 39
HHATRY | 2
Saheb threatened to kill Bhupesh if he does not sell his house to Saheb.
Bhupesh, out of fear signs the contract for selling his house. Is this
contract void or voidable ? Give reason for your answer.

OR

Cannamallai University was established as a Central University under
the CUS Act, 2000. The statute which created the University mandates
that the University opens a bank account with ICUC Bank.

Identify and explain the type of administrative actions in the above
situation.

10. AR # At g i Ufga & o us arfifses foarg oo 8 T | 3|
foaTg & FHTgT SR TEaad o 07T 35iH T HET ¥ |ueh fohal |
39 feufa o e ADR &1 1ger fopam o, 3ueh! 9gem hifvie iR 39
IHHTST | 2
A commercial dispute arose between Rajiv and Rohit who are business
associates. For the settlement of this dispute, they approached an
institution for resolution and intervention.
Identify and explain which ADR is followed in the given situation.

11.  W5hd PR SN S HFSHIeS Th-gil o fobg Teh qaid! HIHAT I8 @ & |
3ITeh <21 hI TS TS o STIHR ~ATATENRT OF il & Toh AT H JHIO fohd
T @ Ta 7 |
39 Tafer gomeft <l ygem FiNT M s A T A frEfi ts wr3g@ hifsu | 2
Michael Kruger and James MacDonald are fighting a court case against
each other. In the legal system of their country, the judge decides the
manner in which evidence must be presented in court.
Identify the legal system and state one of its advantages.
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12. it darsT fege wRd 9% § T TR % U A w1 W W 2 | 38 | A %

& 1 AT o w37 T fheft smamr & 15 fo7 & forw faerfea st fean

T | 394 T9eieq g2 & ot 3taed foran o 39 wEn & 99 Yeges 3 39
TG ol TR H o iifer 3k foreg g THIOT 781 9 | fohg Th gL hl
IRET | IHehT TAFTAYT L TG T41 38 shad 15 Ted o Ia 1 &1 YA g |

30 3R o b fhfvemm 3 o ror 3u o1y dewra foham T |

39 GEAT <6l Ug=H hIfSTu S8f 98 Ugd UM & AT ST Hehd] 3 3T 3§ T&1 i
forgl 1 wiwat =1 3g@ +ft FifSw | 2

Ms. Celine D’Souza was working as a teller in Bharat Bank. She was

charged with misappropriation of funds and without any grounds she was
suspended for 15 days. She applied for revocation of the suspension and
the General Manager of the branch accepted her request as there were no
proofs against her. But she was transferred to a remote area branch and
was paid salary for 15 days only. She alleged that she has been
discriminated as she is a Christian.

Identify the body she can approach for relief and give any two powers of
this body.

13. 9N Gig™ g Yed ga AfURR 6l &l @ fomivareti 1 3g@ it | 2

Mention two salient features of Fundamental Rights granted by the

Indian Constitution.

14. 9Xd § forelt Ugdiche o T Al (F5ed) o Uid @ sl &l Ig@
HITST | 2

AT
HIANE e i Hraehi 1 fFe TopR 3T9ER Y X Gehdl & 2 2

State two duties of an Advocate towards his clients, in India.

OR

How does the corporate sector offer opportunity to law graduates ?
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SECTION C

15. ‘YAt hl ToaAdr 1 AREEA o4 & U =EmEfinn hl TEdedn
Hewul & |7 39 el § 39 fafuss yagmt # s five S =
T 3R fsaerar st 31fem a9 B | 4

“The independence of judges is crucial to ensuring independence of
judiciary.” In this context, explain the legal provisions which mandate a
judge’s independence and impartiality.

16. 3TIT8¢ 21 1 I8 HA g — “THam g g Tenfua ufseen @ sgEw, foeh

ek okl Siiad IT SATher Taa=dl 9 dferd Tal femam stram |~

(%) Shiaa 3 Jafhes Toaadn & AUHR — S T T W 8 2

(@) foret cafxh o Sfte o Jafcheh TadadT bl hdl BT ST Hehdl 8 2 4
JAAgAT

T HIE foh WRdE Gf0u™ %GR SeTEEshi % HiEhideh I Wfe

JMRRT =l hel FUlera @1 T 7 | 4

Article 21 states as follows — “No person shall be deprived of his life or
personal liberty except according to procedure established by law.”

(a)  What is meant by the term ‘right to life and personal liberty’ ?
(b)  How can one’s life and personal liberty be taken away ?

OR

Explain how the cultural and educational rights of the minorities are
safeguarded by the Constitution of India.

17. (%) I3 Ugdihe fohd TR IS TgdIhe 3R Ugalohe-AT-NehigH o Fehdl
2
(@) dYUl arg (YoharT) STshAT H TEalhe-ATH-hied i &1 I Bt 8 2 4

(a) How can an Advocate become a Senior Advocate and an
Advocate-on-records ?

(b)  What is the role of an Advocate-on-records in the entire litigation
process ?
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18. “HIHl TEEAT <1 YA H HI3 gH I HE AT S T8l 8, 9 TS hl Afdeh

AT g R AWTGRT T SR 3 |7 HEH Tl bl IRA AR I
SRR S a1l TEEHT 1 3@ HLd gY Ith HI 1 e g HT | 4

HAAT

“Treran (NALSA) faf=m, 2000 & srafa faferemmett (afad) 1 === T icd
yfspan 8 e fafees Tanett & geam 3= waafset ot aud fafeamret =t
T4 & 17 U9a % fafenett & == A wfRa i aued gu S hed &
3ftfere firg <hifse | 4

“Legal aid is not a charity or bounty in India, but is an obligation of the
state and right of the citizens.” Justify the statement stating the

provisions that make legal aid a right of the citizens in India.

OR

“Selections of lawyers under the NALSA Regulations, 2000 is a rigorous
process where the legal services institutions pick competent lawyers with
high integrity.” Justify the statement explaining the process of selection

of Panel lawyers.

19. Ufeeteh 3R WTgae AU B H TR T HIWT | 4

Distinguish between Public and Private International law.

20. 3 Tl o1 v 3Ig@ Hifve S vRdl gloam el & geeRor
YIGE™ AT | | U SIS o THE AW 9= 8 2 4

Specify the ways in which the Indian Constitution provides for

‘separation of powers’. What are the main advantages of such a system ?
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SECTION D

21, Sited sfiwr Y uiferell oI TuF 3 T 31U TETEST T edl I % aR H
95d ToedR @ S &k R0l S ot 3 agd-dl Ry Siw fdid wer |
et =l ‘G& UM & 91 Syt 3 SAfafis it wogifadt S A | ottt
i fafr % o8 w5 i o i gy & T | suhl fagen 3 gt foen R

ST T T R e |

(F) | TE A ggEE Hifw &t aw 1o Reera % weE % foe s
el 2 |

(@) g fraem < fopm fafer o1 wmaT=ra: srgeror foka e 2

(M) TW EEAr (TS Al HETE w1 U A 3 v i fafen | 5

While taking the life insurance policy, Aman had informed in great detail
the state of his health and habits due to which several Special Test
Reports were called for by the insurance company. Finding the reports
‘OK’ the company issued the cover with extra premium. Aman died
within ten months from the date of policy. The claim was filed by his
widow and refused by the company.

(a)  Identify the agency she can approach for the redressal of her
grievance.

(b)  What method of dispute resolution is usually followed by it ?

(c) Give one advantage and one limitation in the working of this
agency.

22. ¥ T GER & Hal W@dl A1 S GHIM Th U3 | &97 Tl o7 q1 FhH |
3T 3T I ITART & <a1 o1 | T fed a1 Wi e 3R Tefl § 91 5
T g Atk W gHAT L e |

I A T 6 g I ugEE A don wwemse e std e
ek TEd |1 TehdT & | 5

Shaurya has a ferocious guard dog which is always kept on a leash and
never allowed to leave the house. One day, the dog escaped and attacked
an elderly person walking on the street.

Identify and explain the principle of tort law under which the attacked
person can claim relief.

D4%nl oaded From : http://cbsepdrtal . com Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.con
23. for-gl UT9 ThT o HEIEAAT & IR H THEATSY | 5

Explain any five types of mediation.

24. TAH TSI TR M3k I FERIAT ¢ o ¢ T T fafess gar wrferento
(SLSA) &1 qe 3= —aet fafere dan wfifa (HCLSC) T e it 2 |
(%) HCLSC i gw=1 feiflay |

(@) SLSA % Y&/ sdmRy | 5
AT

Trg-qd faferes Tard s g 2 39 Faredl ol dre-uvErd qarsti i gordl § Afeeh

TR A JET ST ] 2 5

Every State Government constitutes the State Legal Services Authority
(SLSA) and High Court Legal Services Committee (HCLSC) for providing
free legal aid.

(a)  State the composition of the HCLSC.
(b)  Give the functions of SLSA.

OR

What are pre-litigation legal services ? Why are these services considered
to be more useful than post-litigation services ?

Qs ®
SECTION E

25. YNd % Far" AT § =i f Fghe % faw @3t ity s 7 2
gt =T o =R i Fgie & e T S At Siafem qisd

1 TS | 6
3AUAT

T | 3= AT oh ARndie i FgRe o e o amaar g 2 39 <Ine

o ettt <t g o U ST9HTT ST 9Tt Shiciforad Hisd ol uemsy | 6

What is the constitutional mandate for appointment of judges at the
Supreme Court of India ? Explain the collegium model followed for the
appointment of judges of the Supreme Court.

OR

What is the qualification for appointment as a judge of a High Court in
India ? Explain the collegium model followed for the appointment of
judges of a High Court.
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26. 31fish W TR = YgIH 1 AT & ek fIU IPC % 3icid HH-8-%H |1d

U h1 TS 99 7 | ARNEE o THY 9 o YR W Iferd gy A9 g ’aie

¢ Tau S o w1g 31tk o foreg HIHAT TRY g3 |

afis & fawg EeT fopu U A & YRR hl ggEH IS | 39 AW |
T g Afw i g I & qd geheH o TN ohl TS hHIWT | 6

Abhik is accused of ‘grevious hurt’ where the punishment under IPC is

minimum seven years. The case was instituted against Abhik after the
Police submitted a charge-sheet before the magistrate on the basis of its

investigation.

Identify the type of case registered against Abhik. Explain the stages of
trial in this case just before the final judgement is pronounced by the
Court.

27. 1961 % TSAIhed UFe o 34 TEEMI bl Tse shife 78 wra & fafyy srewm
%! yfaser firett | 6

HYAT

e fafem aftvg (TR wRfaa 1 sfean) & darfe yerl sany | 6
Explain the provisions of the Advocates Act, 1961 that gave the legal

profession a face-lift in India.
OR

Give the statutory functions of the Bar Council of India.

28. Wi ITCTAd o IUBN HT oo HINT | TAleh TeTadl & & R fafees Jan
TTiereRTor (TeneH) AfafRm, 2002 1 w1 Y9G ST ? 6

State the powers of Lok Adalat. What was the impact of the Legal
Services Authorities (Amendment) Act, 2002 on the scope of Lok Adalats ?
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29. IAECE WiloHsl 3% ST o foeg Bl oie AMscigd o Teh HHAT T
fore frew g TRIY amren foh ST § 54 At ofe o ARTRERl @l @ & WA
1 g Toelt, 399 forT SNUT-E Q91 Rl ASHT 1 3gEF g3 | Al oS *
Rt qx didlcie 4 88 3101 TYHAAT Ath Hid Y SRANAT § 3194 |l
Fedfae 3R e Tey dre forw |
39 "o H 6
() o =won-x G SR AT o THE YL 6 3g@ i |
(@) wHa ARSI & ded 0 T o foIu ‘Tom A Sneadist & =2t &l
HHATRU |
() ‘O A SISl i AW AFETURR % fIT 9 ¢ areft
Toreiwar ==t AT ST @ 2

(I) 54 AWTRERT o AFE TEHRT o WU & 39T T B s hiA-Hl T
o UTH ST Gehdl B 2

Fairy Land Islands brought a case against United Provinces of Barmoria
alleging violation of the provisions of Vienna Declaration and Programme
for Action with respect to 54 Fairy Land nationals who had been
sentenced to death by starvation in Barmoria. Tololand, a neighbouring
country of Fairy Land, snapped all diplomatic and economic ties with

Barmoria to show its resentment.

In this context,

(a)  State the main provisions of Vienna Declaration and Programme

for Action.

(b) Explain the constituents of erga omnes obligations for the state

parties in the context of human rights.

(c) Why are the erga omnes obligations considered as an empowering

feature of International human rights ?

(d)  Which body can Fairy Land approach in order to safeguard the

human rights of its 54 nationals ?
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A. Venkat was a civil servant serving in the Government of India. He was
alleged of misbehavior and corruption for accepting ‘illegal gratification
or valuable things’ from Messrs. Timber Milling and Trading Company
Limited. A committee was formed under Arthur Trevor Harries, an
ex-Chief Justice of the Calcutta High Court to conduct inquiry of alleged
behaviour. He was found guilty and order of suspension was passed.
After serving 15 days, when he joined back his office, he was dismissed
from his position.

Identify the constitutional provision that can protect A. Venkat.
Explain how this provision of the Indian Constitution provides a human

rights framework to the criminal justice system.
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